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ANSWER KEY
PART I: WRITING (35 MARKS)

PART II: READING COMPREHENSION (35 MARKS)
Read the two passages below and do all the exercises that follow.

PASSAGE 1

A. For questions 1-8, choose from the people A-D. (8 x 2=16 marks)

Which person

B. Draw information from the texts above and answer the following questions:

(4 marks)
1. a. Accidents might happen.

b. It's a guaranteed way to/ It can spoil a good relationship. (2 x 1 =2 marks)
2. a. A professional/driving instructor has the knowledge and experience to teach
you properly.

b. driving lessons cost a fortune / very expensive (2 x 1 =2 marks)




C. Choose the best alternative a, b, ¢ or d according to Passage 2.

(5 x 2=10 marks)
1.d 2.b 3.d 4b 5c

D. Match the underlined words in the text with their meanings. There are
two extra definitions that you do NOT need to use.

(5 x 1 =5 marks)
1.d 2e 3.a 4.f 5.¢c

PART Illl: USE OF ENGLISH (30 MARKS)
A Fill in the gaps with only ONE suitable word. (10x1=10 marks)
1. were 2. was 3.to 4.the 5.than 6. had 7. been

8. such 9. which  10. were

B. Complete the second sentence so that it has a similar meaning to the first.
Use the words in capitals. (5 x 1 =5 marks)

is not experienced enough to

can’t have seen

wish | hadn’t forgotten / wish | had remembered
is considered to be

aren’t / are not allowed to smoke

a bbb =

C. Fill in the gaps with words from the box. There are two extra words.

(5x1=5 marks)

1. networking 2. button 3. accept 4. facial 5. relationships

D. Read the text and complete the blanks with the correct form of the words in
bold. (10x1= 10 marks)

1. global 2. valuable 3. Scientists 4. environmental 5. natural

6. explanation 7. pollution 8. harmless 9. industrial 10. solution






